r USA
HRAH

REEBNA

F—-2025 % AL 4 %
iealleade
1 75 30 A 2 £

FW—2025 g AL 4 22 L



TiH 5 = 2R e | Rl
1 R20-1715 e M BR P 2H A 1
2 R20-1716 A BE P ZE A 1
3 R04-8238 A 1
4 R04-8239 JEAE A 2H 1
@ 5 R06-1046 50X100 77 e 2 4
6 M12-F- 24 [ M12-F- 34 16
7 M12B75 P e M12Ff #A i 8
g 8 M12X125 e 5] SkM12X 125 8
O,
(&
" T Trw-2025 1
B4 A/ A4H = FW-20255 %% —
BREAR | BHEH  Fw-20255m—
@'E}' B 5
A B E1T B2 [2022/7/28 i 1120 | & fZ|mm
WA g% %S BRRE w %8 @R it|e B HRREBESEMBRLATR




i H 5 = ZFR g | ks
1 FW-2025:5 08— | FW-2025:50%— | 1
2 M8X30 e [5] 2kMS8X 30 4
3 M10-F- i) #4 M10-F- i 24 ] 1
4 M10X50 Fe 7 EM10X50 | 4
5 R10-1002 JET S AR 2
6 MS~F- 2 52 il M8F-H i il 8
7 M8X70 2 [ JM8X70 4
8 R20-1028 10308 24 | 2
9 R20-1062 | BT AR R | 1
" T Trw-2025 1
B4 A/ A4H = FW-20255& —
REFX . [BHEM FW-20255E=
@'E}' B 5
A BE 1T BB [2022/7/28 e i 1:20 | & fZ|mm
WA g% %S BRRE w %8 @R it|e B HRREBESEMBRLATR




	FW-2025腹肌伸缩架
	图纸
	工程图视图1


	FW-2025步骤一
	图纸1
	工程图视图1


	FW-2025步骤二
	图纸1
	工程图视图1



